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1. The notice by the time the error was found.

(A) had already been released (B) has already been released (C) was
released (D) will have been released

2. Mary to see the doctor for more than 2 hours and she’ s getting

more and more impatient.

(A) will have been waiting (B) had been waiting (C) has been waited (D)
has been waiting

3. Both parties have a duty to __ the terms of the contract and a

failure to do this may raise a breach of contract claim.
(A) abide by (B) shut down (C) take part in (D) figure out

4. One theme that throughout this article 1s the influence of

mothers on fathers and vice versa.

(A) specifies (B) recurs (C) engages (D) obligates

5. The timing belt _ shows signs of wear after about 200, 000 miles.
(A) character (B) characterize (C) characteristic (D) characteristically

6. Finance, commerce, 1inbound tourism, as well as export of other

professional services all have performance.

(A) agreeable (B) competitive (C) satisfactory (D) consumable

7. If there is any of the manager’s involvement, we need to follow

up swiftly and thoroughly.



(A) imply (B) implicit (C) implicated (D) implication
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